Paramecium is from 100-300um long.  They are characterized by a large Macronucleus and a singles Micronucleus.  Green algae use waste from paramecium as food and supply oxygen for paramecium to use.  They do not have an eyespot.  

Euglenas live in water and have two flagella for movement.  They use chloroplasts for photosynthesis and can turn into heterotrophs if they are kept in the dark.  They have an eyespot used for sensing light and dark.  A pellicle acts like a cell wall.  They have an eyespot.  

The amoeba is one celled.  The largest are 1mm across.  Amoebas live in fresh water, salt water, soil, and in animals including people.   They do not have an eyespot.  

Volvoxes are spherical colonies of green cells clinging to a semi-transparent hollow ball.  A single colony may consist of over 500 cells, each one with a tiny pair of whip-like tails propelling the colony through the water.  They do not have an eyespot.

Save this square!!!

Be ready for a quiz….

Study these:

· Locomotion - How does it move?

· Ingestion - How does food enter the Protist?

· Eyespots or Vaculoes? What are these used for?

Locomotion and Ingestion How do they move and eat?
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Paramecium move using many hundreds of hair like structures called cilia.  They feed through a funnel shaped gullet into which food is pulled in by cilia.  They feed on small organisms such as bacteria and even other smaller protozoa.  
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Amoebas move by extending pseudopodia (Latin – false feet) which are able to absorb food particles.  Pseudopodia can increase and decrease in size. Amoeba’s engulf their food through a process know as Phagocytosis.  

Euglena move using their long flagellum, which whips back and forth and propels the euglena.  They have chloroplasts to regulate photosynthesis.  They can survive by ingesting food like a heterotroph if there is not sufficient light to drive photosynthesis.  The euglena is the ancestor of both plant and animal cells.  
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Volvoxes are arranged in a single layer and have two flagella.  Colonies of Volvox move with a highly characteristic rowing motion.  They are autotrophic and make their own food using photosynthesis.
VOLVOX
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